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5. (3 Pts) Chlorine gas reacts with phosphorus to pro
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Show all work to receive credit****%x

. (3 Pts) How many atoms are present in 585 g of KPFs (MM = 184.1 g/mol)? (Advogradro's number

6.02 x 10%)

A) 3.18 x 10%!
B) 1.91 x 10%!
C) 2.82x10%
D) 1.43x10%
E)

1.53 x 1§ 235
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. (3 Pts) The mineral pyrolusite is a compound of >*Mn and ®0. If 63% of the mass of pyrolusite is due
to manganese, what is the empirical formula of pyrolusite‘7 (Molar Masses: Mn 54.94, O 16.00)
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. (3 Pts) What is thi
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%mass in grams of 2.5 mol of glucose, CeH1206? (AtOIIllC masses: C 12 01,H1.01,0
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. (5 Pts) Hydrogén chloride gas can be prepared by the folloWing reaction:
2NaCl(s) + H2S0O4(aq) — 2HCI(g) + Na2SO4(s)
How many grams of HCI can be prepared from 2.00 mol H2SO4 and 2.56 mol NaCl?

(Atomic masses:
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6. (3 Pts) Give the number of otons (p

Na22.99,Cl13545,H1
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uce phosphorus pentachloride. How many grams of
PCls are produced from 3.5 g of Cl; and excess P? (Atomic masses: Cl 35.45, P 30.97)
~ 5Clx(g) + 2P(s) - 2PC15(s)
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7. (2 Pts) The formula mass of aluminum oxalate, Al>(C204)3, is. 22 4. 2 :L
A126.98, C 12.01, O 16.00)

(Atomic masses:
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neutrons (n), and eléctrons (€) in one atom of 2y,
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8. (3 Pts) Calculate the number of moles of bromine present in 4.50 mL of Bry(/), whose density is 3.12

g/mL. (Atomic mass Br 79.90) _
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